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Multiply integers find the sign

Rules
f both integers are either positive or negative, the product!is always a positive
number
(+B) x (#3) =115
(-5) x[(-3) = +15
ultiplying a positive and a negative integer, the product will always be a negative
nteger
(-5 (+3)=415
(5)x (-3) =-15
1. Is -5 X 6 positive or negative
D Positive g Negative
2. |s 9 x -8 positive or negative
D Positive D Negativ
3. Is 200 x b positive or negative
D Positive D Negative
4. |s5x(-3)x2x 4 positive or negative
;I Positive Q Negative
5. s (-15) x|( -5) positive or negative
D Positive D egative
6. Is -99x 1 positive or negative
q Positive q Negative
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Name: o Class: .
7( Multiply integers find the sign >7
Rules ‘

f both integers are either positive or negative, the product'is always a positive

(45 % (b3} = 15 |
(-5) xl¢-) = + 15

ultiplying a positive and a negative integer, the product will always be a negative
nteger
(-5) X (+3)=-15
(5)x (-3)=+15

1. Is -5 x 6 positive or negative

D Positive D Negative

2. |s 9 x -8 positive or negative
D Positive D Negativ
3. s ’JO X 6 positive or negative ‘

D Positive D Negative

4. |Is5 x(-3) x 2 x 4 positive or negative ‘

Dl Positive :I Negative

5. s (-15) x|¢ -5) positive dr negative |

D Positive D egative

6. Is -99x 1 positive or negative

C] Positive J Negative

T I

. Math-wordproblems.com
All rights reserved



	08.multiply-intergers-find-the-sign-01
	08.multiply-intergers-find-the-sign-02

